Monday

Tuesday

Wednesday

Thursday

Friday

What is the name of
a shape with this
number of sides?

triangle
quadrilateral
pentagon

Put these in
ascending order:
3694 1
82640 4
6224 2
28630 3

Put these in
descending order:
0.81 4
0.084 2
0.19 3
0.034 1

What are these as
mixed numbers?
18/

14/5

What is the name of
a shape with this
number of sides?
hexagon

heptagon

octagon

Put these in
ascending order:
64330 3

6261 2
87210 4

1297 1

Put these in
descending order:
0.931 2

8.52 4

0.321 1

6.72 3

What are these as
mixed numbers?
11/

1 4/3 =2 %

What is the name of
a shape with this
number of sides?

nonagon
decagon
icosagon

Put these in
ascending order:
62410 2
937100 4
44970 1
310400 3
Put these in
descending order:
8.452 3
0.6521 2
9.452 4
0.4363 1

What are these as
mixed numbers?
2%/ 4

2 2/6 =2 1/3

What are the names
of these shapes?
isosceles triangle
equilateral triangle
right-angled
triangle

Put these in
ascending order:
6476100 3
641210 2
9744200 4
613240 1

Put these in
descending order:
0.0094 2
0.014 3
0.0061 1
0.029 4

What are these as
mixed numbers?
24/ 5

25/9

What are the names
of these shapes?
parallelogram

rhombus

Trapezium
Put these in
ascending order:
624758 1
6328140 2
78521600 4
6547780 3
Put these in
descending order:
3.21 4
0.521 2
0.0478 1
0.523 3

What are these as
mixed numbers?
32/3

31/,




Give an angle that
would be:

Acute 1-89°
Obtuse 91-179°
Reflex 181-359°

Calculate:
1634x3 = 4902
2356x4 = 9424
2578x5 = 12890
3032x6 = 18192

Give an angle that
would be:

Acute 1-89°
Obtuse 91-179°
Reflex 181-359°

Calculate:

4856x7 = 33992
8485x8 = 67880
3623x9 = 32607
4247x3 = 12741

Give an angle that
would be:

Acute 1-89°
Obtuse 91-179°
Reflex 181-359°

Calculate:

8124x4 = 32496
8064x5 = 40320
4275x6 = 25650
3524x7 = 24668

Give an angle that
would be:

Acute 1-89°
Obtuse 91-179°
Reflex 181-359°

Calculate:

4934x8 = 39472
6424x9 = 57816
7225x3 = 31675
9047x4 = 36188

Give an angle that
would be:

Acute 1-89°
Obtuse 91-179°
Reflex 181-359°

Calculate:
9356x5 = 46780
6447x6 = 38682
1009x7 = 7063
1215x8 = 9720

Calculate: Calculate: Calculate: Calculate: Calculate:

1068+3 = 356 3325+7 = 475 2472+4 = 618 6648+8 = 831 1325+5 = 265
1112+4 = 278 4664+8 = 583 3695+5 =739 8343-9 = 927 2244+6 = 374
1745-5 = 349 44739 = 497 3762+6 = 627 2538+3 = 846 3381:7 = 483
1698+6 = 283 1563+3 = 521 5222+7 = 746 3832+4 = 958 4736+8 = 592
What is the What is the What is the What is the What is the
difference between? | difference between? | difference between? |difference between? |difference between?
-4and -9 =5 -9and -3 =6 -6 and -24 =18 -46 and -92 =46 -67 and -29 = 38
-14and -6 =8 -15and -7 =8 -34 and -66 = 32 -14 and -68 =54 -146 and -65 = 81
-17 and -32 =15 -21land -18 =3 -58 and -39 =19 -73 and -32 =41 -167 and -28 =139
Score: Score: Score: Score: Score:




